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RSV =(CLOSE-LLV(LOWO Q))/(HHV(HIGHD Q)-LLV(LOW Q))*1000]

KO =SMA(RSVO 50 1)0
DO =SMA(KO 30 1)0
)0 =3*K-2*D0]

VAR20 =EMA(IO 6)0

VAR3O =(CLOSE-LLV(LOWU 21))/(HHV(HIGHO 21)-LLV(LOWD 21))*1000]

VARA4O =SMA(VAR3O 130 8)01

VAR50 =CEILING(SMA(VAR4O 130 8))0
VARG ="SSRP.MA1"[]

VAR70 ="SSRP.MA2"[]
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AL:=AMOUNT/VOL/100;:A2:=(3*HIGH+LOW+OPEN+2*CLOSE)/7;A3:=SUM(AMO
UNT,40)/AL/100;:A4:=SUM(AMOUNT,80)/A1/100;B1:=DMA(A2,VOL/A3):B2:=DMA(
A2,VOL/A4):B3:=(CLOSE-B1)/B1*100;B4:=(CLOSE-B2)/B2*100:0] 0 :=SUM(C*V,240)/
SUM(V,240);RSV:=(CLOSE-LLV(LOW,Q))/(HHV(HIGH,Q)-LLV(LOW,Q))*100:K:=S
MA(RSV,5,1);D:=SMA(K,3,1);J:=3*K-2*D;VAR2:=EMA(J,6);VAR3:=(CLOSE-LLV(LO
W,20))/(HHV(HIGH,21)-LLV(LOW,21))*100;VAR4:=SMA(VAR3,13,8);VAR5:=CEILI
NG(SMA(VARA4,13,8));VAR6:="SSRP.MAL";VAR7:="SSRP.MA2":SIGNAL1:=CROSS(V
AR5,VAR2) AND C&gt:=00 0 :SIGNAL2:=(CROSS(VAR5,VAR2) AND B3&gt:0.6 AND
C&gt:=0 O ):SIGNAL3:=(CROSS(VAR6,VAR7) AND B3&gt:0.6 AND

C&gt:=0 0 ):SIGNALL AND SIGNAL3 AND VAR5&gtVAR2{0 0O 00" 00" O
000000000000000000000

0000000000000}

oogoooooogssSRpO oot

oddubbobboooouobuobbooooobobbouoooooossr
P
(obo)y uoo.oouoboboobobuooobboooboboooboooboooo

OO0000000SSRPU O20080 10000 0O0O0OOOOMO
JOSSRPOOOOOOOONODN

1LSSRPUDNOOLOUOOOOOOODLDOU
2SSRPUOLOOOOOOOO0OU
SSRPULNUOOOOOOOOYd

ASSRPUL OO ODOUOOOOUOOOObLOO

oo2/5



000 gupiaozhishiba.com

bbb oouooooon

Joobooouboubotdbooboboboogo od
oo oo ogbooood

All0 =AMOUNT/VvVOL/1000

A2[0 =(3*HIGH+LOW+OPEN+2*CLOSE)/7[]

A3 =SUM(AMOUNT 40)/A1/1000

A40 =SUM(AMOUNTU 80)/A1/1000]

B100 =DMA(A20J VOL/A3)[

B200 =DMA(A20J VOL/A4)[

B30 =(CLOSE-B1)/B1*1000

B4 =(CLOSE-B2)/B2*1000

O 0 0 =SUM(C*VvO 240)/SUM(VO 240)1

RSVO =(CLOSE-LLV(LOWO Q))/(HHV(HIGHO Q)-LLV(LOWO Q))*1000
KO =SMA(RSVU 500 1)

DO =SMA(KO 30 1)

J =3*K-2*D0

VAR20 =EMA(U 6)1J

VAR3L =(CLOSE-LLV(LOWO 21))/(HHV(HIGHO 21)-LLV(LOWO 21))*1000
VAR4[ =SMA(VAR30 130 8)J

VAR50 =CEILING(SMA(VAR4[ 1301 8)) [

VARG6L] ="SSRP.MA1"[]

VAR7L ="SSRP.MA2"[]

SIGNAL1[J =CROSS(VAR5 VAR2) AND C&ampl]
gt

=0dad

SIGNAL20 =(CROSS(VARS VAR2) AND B3&amp([
gt

0.6 AND C&amp[]

gt

=0 0)o

SIGNAL3[] =(CROSS(VARG] VART7) AND B3&amp[
gt

0.6 AND C&ampU]
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